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X = 320554.44

Y = 4349501.33

Κ2

X = 320589.43

Y = 4349500.15

β
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ΚΔ = 0.28

ΑΑ' = 36.63
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L = 0.00

Α = 0.00

ε = 0.00
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X = 320734.20
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X = 320771.34

Y = 4349473.13

β

= 175.094°

R = 200.00

ΚΔ = 0.18

ΑΑ' = 17.13

ΩΩ' = 17.13

L = 0.00

Α = 0.00

ε = 0.00

ΚΑ = 8.57

Κ8

X = 320797.95

Y = 4349464.63

β

= 160.594°

R = 50.00

ΚΔ = 0.73

ΑΑ' = 16.93

ΩΩ' = 16.93

L = 0.00

Α = 0.00

ε = 0.00

ΚΑ = 8.55

Κ9

X = 320816.31

Y = 4349450.74

β

= 153.815°

R = 30.00

ΚΔ = 0.80

ΑΑ' = 13.71

ΩΩ' = 13.71

L = 0.00

Α = 0.00

ε = 0.00

ΚΑ = 6.98

Κ10

X = 320827.81

Y = 4349427.88

β

= 179.881°

R = 3000.00

ΚΔ = 0.00

ΑΑ' = 6.23

ΩΩ' = 6.23

L = 0.00

Α = 0.00

ε = 0.00

ΚΑ = 3.12

Κ11
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